Problem 10FE-3

Two balanced three-phase loads are connected in parallel.  One load with a phase impedance of 
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 is connected in delta, and the other load has a phase impedance of 
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 and is connected in wye.  If the line-to-line voltage is 208 V rms, determine the line current.

Suggested Solution

Assume 
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For 
[image: image4.wmf]D

:


[image: image5.wmf]2080

6.93336.87 A rms

2418

j

f

Ð°

==Ð-°

+

I



[image: image6.wmf](

)

(

)

(

)

3306.93336.871266.87 A rms

L

=Ð-°Ð-°=Ð-°

I


For Y:
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Total line current:
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or

Convert 
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Then
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